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freaferRaa AT i aga @rae1 | Uiy 3R ITehT UTer Hifeg :
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2. JvI-99 gie @Uel § fauifod & - @ue &, @, T, 9 d97 S/

w
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9.
10.

GUE & H T G 1 § 18 TF aglaskediq a9l Yo7 G 19 TF 20 AVFHIT T

e STTRT 1 37 & 997 81

QU @ H 9 G&I1 21 G 25 G Hfd Tg-3ITT (VSA) IR % 2 3Hhl & I97 81

WUE T § Jv G&IAT 26 G 31 7% AY-3I70T (SA) IR & 3 371 & J97 81
TUe g 4 J97 §&41 32 § 35 a% qiH-3a09 (LA) THR & 5 37l & I3 3l

WUS T § ¥ GEIT 36 T 38 GId/ThI0T ShTS SATTRA 4 37l & I3 & 3aRF

fasheq 2 371 & v 7 fear 7o 3l

Y9T-U7 § GHY fasheq T8 o9 7 81 FeIfU, @ve @ % 2 Yl 4, @Ue T F 2 JuAl
4, @ue g P 2 vl § d9T TUS € & 2 Hhl & 3 JvHI § SR fdheq T T8

fear 7 3l
STET ST §l, Tes TGl aHe| Fle SEvad g af w = 22/7 &l
FeAFAT H TN T

Qug - <h 20x1 =20

9 HEAT 1 | 20 ok Sgfached i T § qT T U9 1 AR H1 R |

1.

4.

5.

If& HCF (x, 20) = 2 91 LCM (x, 20) = 60 &, ¥ x T TH 2

(a) 3 (b) 6 (c) 20 (d) 10
forgatl (— 6, 9) @1 (2, 7) % o= I g0 2 -

a) 217 (b) 417 ) 245 d 215

T A.P. T #dl U2 51— 6 g1 SHHT TET<H & :
(a) -6 (b) 5n (c) 5 (d o

Sgiq p(x)=kx2—9x+3www(—%) R AR ORE :

@ 2 ® -2 o ¥ @ -2

o foeehl 1 T T IDTT ST 2| 3@l WReRar fo fad ww foee

92 (T) g9, 2 :

1
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General Instructions :
Read the following instructions carefully and follow them :

1.
2.
3.

10.

1.

This question paper contains 38 questions. All questions are compulsory.
Question paper is divided into FIVE sections — SECTION A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs)
and question number 19 and 20 are Assertion — Reason based questions of
1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type
questions of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case—based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in
2 marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions of 2 marks in Section E.

Draw neat figures wherever required. Take m = 22/7 wherever required if not
stated.

Use of calculators is NOT allowed.

SECTION - A 20x1 =20
Question Nos. 1 to 20 are multiple choice questions of 1 mark each.
If HCF (x, 20) =2 and LCM (x, 20) = 60, then value of x is : 1
(a 3 (b) 6 (c) 20 (d 10
The distance between the points (— 6, 9) and (2, 7) is : 1
(a) 217 (b) 417 ©) 245 d 2415
If n™ term of an A.P. is 51 — 6, then its common difference is : 1
(a) —6 (b) 5nm (c) 5 (d 6
One of the zeroes of the polynomial p(x)=kx*> —9x+3 is (— %) The
value of kis : 1
22 14 14 22
@ = b) -3 © = d -5
Three coins are tossed together. The probability that only one coin shows
tail, 1s : 1
1 3 7
@ 3 ®) 3 © 3 (d) 1
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6. THM A AT & TG S hl Hergdl 1 ITgA 1:2 7| $eh! B
I 3T B -
@) ~2:1 (b) 1:2 ) 1:4 d 1:42

7. afe 2sin@ =172, @ cot x cosecd S 2 :

1 1 1
@ 5 ® = © 2 @ 3
Q

8. PQ T PR, BIsAT 3 cm @1 &g O 9T, I W
i<l Th < Tl W@ 71 9 gk el W

TS 4 cm &, A AIYSt OQP &l 9™ 7 - O
(@) Scm (b) 12cm
(c) 9cm (d 8cm R

9. WEIE 2x% +5x+1 % AF oA B 7 [é+%) H UM B -

@ -2 (®) 5 © 2 @ -5
10. AP.:1042,62,24/2,.... 1 2091 72 B :
(a) —-76+10J2 (b) —6242 (¢) —-6642  (d) 8632

11. IfE secO—tan® =2 %, ql secO + tanOH HH B

O O @ 2

12. 52 Ui ach A8 TR ¥ B i i it T H ¥ wh uw Agesdl
frepren | ot wifieRan foh freret T U W TR T 9’ g, 7
1 4 1 1

@) ¢ ®) 13 © 3 @ 13
13. I % g T 210° 1 IV AN e AT =19 hl THITS %cm%lﬁﬁﬁ
ﬁ?’:ﬂ%:

(a) 242 cm (b) 4cm (c) 8cm (d) %cm

14. m 1 98 9 5@ 18 W 14x +my =20 q°1 —3x+ 2y = 16 TH=H 3,

2.
@ -2 b -2 © -2 @ -

430/4/1 A 4|Page

EE
H



6. Two right circular cylinders of equal volumes have their heights in the

ratio 1:2. The ratio of their radii is : 1
(a) ~2:1 (b) 1:2 (c) 1:4 @ 1:42
7. If +/25in0 =1, then cot0 x cosecOis equal to : 1
1 1 1
a) —= b) —— ) V2 d =
(a) VA (b) 202 (c) d 3
8. PQ and PR are tangents to the circle Q

of radius 3 cm and centre O. If
length of each tangent is 4 cm, then

perimeter of A OQP is : 0 P 1
(@ Scm (b) 12cm
(¢) 9cm (d) 8cm R
9. a, B are zeroes of the polynomial 2x? + 5x +1. The value of (é + %) is: 1
@ -2 (b) 5 © 2 @ -5
4 4
10. The 20" term of the A.P. : 10\/5, 6\/5, 2\/Z 1S : 1
(a) —-76+10J2 (b) —6242 (¢) -66v2  (d) 8632
11. If secO —tanB = 2,then secO + tan0 is equal to : 1
1 1
a) = b) 2 c) —F— d 2
@ 3 (b) (c) NG (d)
12. A card is drawn at random from a well shuffled deck of 52 playing cards.
The probability that drawn card shows number ‘9’ is : 1
1 4 1 1
@ 5 ®) 13 © 35 @ 13
13. The length of arc subtending an angle of 210° at the centre of the circle, is
% cm. The radius of the circle is : 1
@ 242em  (b) 4cm © 8cm (@%m
14. The value of m for which lines 14x + my = 20and —3x+2y =16 are
parallel, is : 1
3 7 28 3
@ - ) -3 © -3 @ -3
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15. 7 cm 3R Brson ot o 1 a5 gHiF &% 550 cm’ 21 UF A fade
EEIEEE
(@) 25cm (b) 14cm (c) 20cm (d) 24cm

16. 3¢ sin A:% 2, @ cos A I UM 7 :

3 J5 1
(a) 0 (b) 3 (c) 3
17. PAQAN PB, %% O a1 gd R @i
TR g1 TSt W@ §| e LAOB =105°
2d LOAP+ ZAPB I UH ? :
(a) 75° (b) 175°
(c) 180° (d) 165°
18. A ABC # PQ || BC 21 fear man 2
% AP =2.4 cm, PB =3.6 cm a9
BC = 5.4 cm 81 PQ &l &S ® :

A
P/\Q

(a) 2.7cm (b) 1.8cm /

(c) 3.6cm (d) 2.16 cm B C
T
9T TEAT 19 3R 20 AUHAT T qeh oaTia U9 2| a1 wed fou wu § e
Tk T ATHHAT (A) AT TR Y Teh (R) I eifera feram e 21 37 oot & ot
IR et 84U T RTE (a), (b), (¢) 3R (d) 7 & AR AT -
(a) <RI (A) 3 Tk (R) gHI T& & 3 Tk (R), AweA (A) i &l
T T 2
(b) IR (A) 3R T (R) GHI T&l §, Wg %k (R), JAMHRAA (A) hit Tl
S| T LT 2l
(c) AMIH (A) T B, Wg I (R) T 2|
(d) IR (A) TIaid B, Tg @ (R) T& 2|
19. AR (A) : T Hen wWhen § fomnfefai o Hqreus uredih 16 ) gEeht AY
g amefl et o Ui 16 § A 2l
sk (R) : H1eeh QU Torawer i g1 e 9T | Siedr 2|

20. aHferer () : af2 TN E % Hfea 4 6w P(E) - oo B

@ P(E)=0.001 2|
T (R) : P(E) + P(E) =1

=
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15. The curved surface area of a cone with base radius 7 cm, is 550 cm®. The

slant height of the cone is : 1
(@) 25cm (b) 14cm (c) 20cm (d) 24cm
16. Ifsin A = %, then cos A is equal to : 1
3 J5 1 1
@ 3 (b) =~ © 3 (d) Nl
17. PA and PB are tangents to a circle A
with centre O. If ZAOB =105°
then ZOAP + ZAPBis equal to : b b 1
(a) 75° (b) 175°
(c) 180° (d) 165°
B
18. In A ABC, PQ || BC. It is given that A
AP = 24 cm, PB = 3.6 cm and
BC =54 cm. PQ is equal to : P /\ Q 1
(a) 2.7cm (b) 1.8cm
(c) 3.6cm (d) 2.16 cm B C
Directions :
Question numbers 19 and 20 are Assertion and Reason based questions.
Two statements are given, one labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct answer to these questions from the
codes (a), (b), (¢c) and (d) as given below :
(a) Both, Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
(b) Both, Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
19. Assertion (A) : Median marks of students in a class test is 16. It means
half of the class got marks less than 16.
Reason (R):  Median divides the distribution in two equal parts. 1
20. Assertion (A) : IfE is an event such that P(E) = ﬁ,
then P(E ) = 0.001.
Reason (R): P(E)+P(E)=l 1
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TUE - @

T TEAT 21 | 25 Tk AT AG—3IW a7 T &, NH Tedeh 2 3T HT1 8 |

21. eigd fop forelt STha T n % fod G 457 @i 0 W HHT T2 A Hehd |
3 YT G&AT ‘g’ 1 TH ey fo8 45" & 7O S T IOESA, 3 0 W
HuTH 2|

22. fomgatl (2, 8) AAT (— 3, — 5) I SAied aren W@rEe fo=g P(x, 0) ¥ Tk Ffwem
sguTd § foford gram 81 98 ST @ x 1 9 F0a i

23. (A) T Rk 1 R @ W s & i om

aTgesAl Y Y TR ST 21 6! F Wikl @ Q 2m
for 8 foak1 0.7 m Brsam aretl g9 | fom?

e
(B) T U I g IR ekl TAT| G F1 TTReRaT 7 T (1) g g awne

o = 1 AR 3 B (i) & ITed TEATST 1 A0 8 7|

24. (A) Tog I for forelt amer forg @ foreft 9@ X Ef=t 15 wawt T@sti o o=
1 HO TR g w AW G {@es gR ey T HAANd o

L Bl 2
3AUAT

B) fag Fifvw 5 freht g9 & foreht =me & & w o=t ™ wowt W@

AR 2t 2

A
25. @ T 3R H LADE = ZACB
AD AE
ﬁzﬁﬁﬁq@aﬁﬁﬁﬁmwc . .
T HHIgETE By 2| :
B

o - T
Y HEAT 26 ¥ 31 Tk TTY—IW AT T &, T8 Tdeh 3 siF w2 |
26. SEUG p(x)=6x> +13x—5 % IF A HISR R T qAT UM o sit=
& TEe <hl Teadr i S hifsd|
27. (A) HH=R 2oft 7, 10%,14, ..... 84 1 A Fa IR |
3AAAT
(B) =fe fheht AP.% Wom » ugl 1AM S, = 2(2n+8) B d 3R YUH UE

2
YT AR A ShiTord | 3ok U= 1591 Ug TTd it |

=
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SECTION - B
Question Nos. 21 to 25 are very short answer questions of 2 marks each.
21. Show that 45" can not end with the digit 0, » being a natural number. Write
the prime number ‘a’ which on multiplying with 45" makes the product end
with the digit 0.
22. Point P(x, 0) divides the line segment joining the points (2, 8) and (— 3, — 5)
in a certain ratio. Find the ratio and hence find the value of x.

23. (A) A coin is dropped at random on the 3m
rectangular region shown in the figure.
What is the probability that it will land Q 2m
inside the circle with radius 0.7 m ?
OR

(B) A die is thrown twice. What is the probability that (i) difference
between two numbers obtained is 3 ? (ii) sum of the numbers obtained
1s87?

24. (A) Prove that the angle between the two tangents drawn from an external
point to a circle is supplementary to the angle subtended by the line
segment joining the points of contact at the centre.

OR
(B) Prove that the tangents drawn at the ends of a diameter of a circle are
parallel. A
25. In the given figure ZADE = ZACB and

AD AE .

DB~ EC Prove that AABC is an D E

isosceles triangle. c
SECTION — C B

Question Nos. 26 to 31 are short answer questions of 3 marks each.

26. Find the zeroes of the polynomial p(x)=6x>+13x—5and verify the
relationship between its zeroes and the coefficients.

27. (A) Find the sum of the A.P. 7, 101, 14, ... 84.

OR
(B) If the sum of first n terms of an A.P. is given by S, =%(2n+8).

Then, find its first term and common difference. Hence, find its 15%
term.

3
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28.
29.

30.

31.

fog Ff 7 3 wh sfom w2

(A) IR ©g A(- 5, »), BQ, — 2), C(8, 4) a1 D(x, 5) T TR =4
ABCD & 3 gt 0 @ &, af x 3R y &1 AF J1a HIivR| 30 auT=R
TS 1 el s T G i |

3AAAT

(B) o5 A(6, - 3), B(0, 5) @ C(— 2, 1) AABC & 3N foig 21 foig P(3, 1)

aar fomg Q(2, — 1) HAM: WS AB a1 AC W oo 21 S iRl 6
AP AQ

Wﬁ-@%|

10 cm = ot g 1 T ST 99 & g O
T 60° T IV AN AT 8| ST W
& 1A ehitord |

(V3 =1.73,v2 =1.41 @ « = 3.14 SRA)

fog I % 99 & dfere a9 Igde 1 H-um i 49 hg WA
10T SN Bl B

wus - Y

YT TEAT 32 | 35 Tk -3’ a1l U9 2, T udieh 5 sfh w1 2 |

32.

33.

34.

(A) feam m & 7 p2x? + (p? —¢P)x—¢> = 0;(p % 0)
(i) =g foF s wefiertor o1 fafaeraemt (D) sk ot =t 2
(i) R o g TG HivE |
FT
(B) M SHATTA TcH UTh $9 TR & Toh T&18 BI qUiish 1 a7 TF STehl
M % OGS oh1 AW 67 7| Tgema TR 6t g™ | 1 qoriesh
SHifsr |
T SfeRel 1 AT’ qT g T i
at 15-20 | 20-25 [ 25-30 | 30-35 | 35-40 | 40-45
FRERAT 6 16 17 4 5 2

(A) A Toret Bt <kl Tk ST o | 31 &1 STraAi 1 o -fim forgati w
yfoesg A & o weh @ gt o q fag fifse 3 e @ e
T & Fgrd § fawiiora & S 2
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28.
29.

30.

31.

Prove that \/g is an irrational number.

(A) Ifpoints A(-35, ), B(2,—2), C(8, 4) and D(x, 5) taken in order, form a
parallelogram ABCD, then find the values of x and y. Hence, find
lengths of sides of the parallelogram.

OR

(B) A(6, —3), B(0, 5) and C(— 2, 1) are vertices of AABC. Points P(3, 1)
and Q(2, — 1) lie on sides AB and AC respectively. Check whether
AP _AQ
PB QC

A chord of a circle of radius 10 cm

subtends an angle of 60° at the centre O.

Find the area of the shaded region.

(Use \/3 =1.73,+/2 =1.41 and n = 3.14)

Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

SECTION -D

Question Nos. 32 to 35 are long answer questions of 5 marks each.

32. (A) Itis given that p?x* +(p?> —g*)x—q>=0; (p %2 0)

(1) Show that the discriminant (D) of above equation is a perfect
square.

(1i1) Find the roots of the equation.

OR
(B) Three consecutive positive integers are such that the sum of the square

of smallest and product of other two is 67. Find the numbers, using
quadratic equation.

33. Find ‘mean’ and ‘mode’ of the following data :

Class 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45

16 17 4 5 2

Frequency 6

34. (A) Ifaline is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, then prove that the other two sides are
divided in the same ratio.
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3AAAT
(B) AABC ! 3131l AB @2 AC W A3 fog P q91 Q 39 WK f&ord & ok

PQ || BC 7| fag i fo mrfesrsmt AD St fo fog A & 9ot BC W ©if=h
T 2, e PQ i gufgwiford et 2|
35. U USEed o MRIGR W U el M | M % Tk forg ¥ Usted & R
I FHIO 30° 7 a1 I forg & TR F BRGR F: IHW F0 60° 21 AT 3
#H HAE S m 2 ql USEA hil HaTg A YW+ 3 fog ¥ 39 Useed H gl
T IR (/3= 1.73 fif)

Qug -3

9T TEAT 36 & 38 Tk TRIUT STUTRA T &, T Tieh 4 37h 1 2 |

36. T RIS ShFOHT oT9H UTEehi
% fo @ gead - @i A g
IS B el 2 |
Tl AT i Rask TR g
T S ThAT 2| AR P @il ™
T (fie #) =t qon <C’ 3ueht Hima
T 8| Tt e YR F F
ISHT A 3C = 20¢
ISHT B 1 3C = 10£+ 300
ST FoAT o IR R F=fefad e o I dfre -

(i) Ffe 319 IS B o & a1 S1ent ferat srfires oftn o+ gnfi ?
(i) =8 9 AT A @S 38 T 250 § fore fime wdie ?
(iii) (a) Tere firfe @lier W, g1 AT o dgd, THM TR < 2l ? o8

Tfr fopet Bt ?
AT
(i) (b) HH-H AT TR 7, IR 3T 60 fire wlgT aEd 27 ahaTa
ERiSEIER]

=
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OR
(B) Ina A ABC, P and Q are points on AB and AC respectively such that
PQ || BC. Prove that the median AD, drawn from A to BC, bisects PQ. 5

35. From a point on the ground, the angle of elevation of the top of a pedestal
is 30° and that of the top of the flagstaff fixed on the pedestal is 60°. If the
length of the flagstaff is 5 m, then find the height of the pedestal and its

distance from the point of observation on ground. (Use V3= 1.73) 5

SECTION - E

Question Nos. 36 to 38 are case-based questions of 4 marks each.

36. A telecommunication company came
up with two plans— plan A and plan B
for its customers.

The plans are represented by linear
equations where ‘¢’ represents the time

(in minutes) bought and ‘C’ represents

the cost. The equations are :

Plan A : 3C=20¢

Plan B : 3C =107+ 300
Based on above information, answer the following questions :

(1) If you purchase plan B, how much initial amount you have to
pay ? 1

(i) Charu purchased plan A. How many minutes she bought for ¥ 250 ? 1

(111) (a) At how many minutes, do both the plans charge the same

amount? What is that amount? 2
OR
(i11)) (b) Which plan is better if you want to buy 60 minutes? Give reason
for your answer. 2

430/4/1 A 13|Page 88 P.TO.



37. WG % 9a (Ball Pool) § Wl =i & ford
HARSH o1 37T TEF 8| gMT 4 319 o=l <h
R 9@ # W& & T 7 cm =@ et 600 Tig
TEl| 600 Tig T ATt BT 36N & fesal 6t
fomm 42 em x 91 ecm x 50 em (/ x b x k) &I
ST T o R | F=fafad st & 3@
A

(i) e Tig o1 TG T hiforg) 1
(i) 10 7@ = = T & T foRam| T g8 1 amwa AR 1
(il) (a) Tesu T Iuctey fieh TAM 1 AT T IR 2
3AYAT
(iii) (b) TG I TEH e ddE W G W g3 w9 ¥ ° Wi T § S
fosd &% QW SMUR & * Th odl B (A) Th Tg g ATesIed
(covered) & T &% e (B) T faelt wdg W ferat
G 87 2
38, W qun 94W g gd @ ek OC
yfirds TF g & o 50 3| @ o
% W J IEYIS YA k A1Y
yfirge 1 smftd o)
Ig @ T wn fo6 wWW Bt G Dh H aom®™(\
&9 ABC % fm-fem am T%—wm °
TR G 96 Y1 AF, FE a1 38m BH =40m
L A o DG - 40m
e @ g o
freafafad T I S5 F AF = 53.58m
(2 =1.41 7 /3 =1.73 <fifsd)
(i) g BC ! @IS 1 il | 1
(i) g AG & T=IE 1 il 1
(i) (a) Tt ABC =1 afmm ma Hifsm 2
3YAT
(iii) (b) (AF+ FE + EB) &l @18 91d $Hifs| 2
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37. Playing in a ball pool is good
entertainment for kids. Suhana bought
600 new balls of diameter 7 cm to fill
in the pool for her kids. The cuboidal
box containing 600 balls has dimensions
42 cm x 91 cm x 50 cm (! x b xh).
Based on above information, answer the
following questions :

(1) Find the volume of one ball. 1
(i1) 10 balls are painted with neon colours. Determine the area of painted
surface. 1
(i11)) (a) Find the volume of empty space in the box. 2
OR
(i11)) (b) The lowermost layer of the balls covers the base of the box edge
to edge when balls are placed evenly adjacent to each other.
(A) How much area is covered by one ball? (B) How many balls
are there in lowermost layer? 2
38. Rahim and Nadeem are two N
friends whose plots are adjacent o
to each other. Rahim’s son made a
drawing of the plots with
necessary details. N G Dh H 40\
It is decided that Rahim will fence & T 4 dom—is
the triangular plot ABC and 38 BH = 40m
Nadeem will fence along the sides 53.58m HD = 10m
DG =40m
AF, FE and BE. , GF = 38m
Observe the diagram carefully and F i%zss?ggm
answer the following questions :
(Use v/2 =1.41 and /3 = 1.73)
(1) Find length BC. 1
(11) Find length AG.
(i11) (a) Calculate perimeter of AABC. 2
OR
(i) (b) Calculate length of (AF + FE + EB). 2
EaE
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